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image7.png
L (z+3)(z-2)=a*+z -6

. (z+5)(x—3) =2+ 22— 15
L (2 +6)(x—4) =2+ 20— 24
L (@ +2) (e —5) —
. (@ +4) (@ —6) =
@+ 1)@ —7) =
e+ )@ —8) =
L (@ +8) (@ —9) =

. (@ +9)(@ —10) —a? — 2 — 90
. (@ +10)(x — 1) =2 + 92 — 10




image8.png
. (112 4 5)(z + 7) = 112° + 82z + 35
(122 + 1) (2 +4) = 1227 + 49z + 4

. (13 + 3)(z + 10) = 1322 + 133z + 30
. (142 + 2)(c + 12) = 14¢? 4 1702 + 24
. (152 + 4) (2 + 6) = 1527 + 94z + 24

. (16 + 7)(z + 8) = 162% + 135z + 56

. (172 +5)(x + 1) = 172% + 222+ 5

. (18 + 6)(z + 14) — 1822 + 264z + 84
. (192 + 2)(z + 15) = 1922 4 305z + 30
. (20 + 3)(z + 11) = 2022 + 233z + 33
. (21 + 1)(z + 13) = 2122 4 2862 + 13
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. (22 +3)(x +5) = 2% + 13z + 15

. (3z +4)(x + 7) = 3a® + 252 + 28

. (42 + 2)(z + 6) = da® + 262 + 12

L (52 + 1)(x + 3) = 52% + 162 + 3

. (62 +5)(x +2) = 62% + 172 + 10

. (Tz + 3)(x + 8) = 7a® + 59z + 24
(82 +2)(x +9) = 8a® + T4z + 18

. (92 +4)(z + 11) = 92% + 103z + 44

. (10 + 6)(z + 13) = 1022 4 1362 + 78
. (11z 4 5)(z + 7) = 112% + 82z + 35




image10.png
- (122 — 4)(11z + 8) = 13227 + 80z — 32
. (132 + 3)(12z — 9) = 15622 + 3z — 27
. (142 — 5)(13z + 7) = 18222 + 66z — 35
. (152 + z — 8) = 21027 — 46z —
15 2)(14: 8 210z% — 46, 16
. (162 — 3)(15z + 4) = 2402% + 492 —
16: 3)(15. 4 240z + 49, 12
. (172 + 5)(16z — 10) = 2722% — 25z — 5
17 16. 10, 27227 — 25, 0
. (182 — 6)(172 + 11) = 3062 + 12z — 66
. (192 + 4)(18z — 3) = 34222 + 57¢ — 12
. (202 — 2)(192 + 5) = 38022 + 10z — 10
. (212 4 1)(202 — 7) — 42022 + 13z — 7
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10.

L2z —5)(x+3) =22 +a— 15

. (32 +4)(20 — 7) — 622 — 5z — 28

. (42 — 2)(3x + 5) — 12¢? + 14z — 10
. (52 + 6)(4z — 8) — 2027 — 14z — 48
. (62 — 3)(5c +2) — 3022 + 32 — 6

. (Ta -+ 4)(62 — 9) — 4207 — 3z — 36

. (82 — 5)(Ta + 10) = 5622 + 30z — 50
. (92 +6)(8z — 11) — 7222 — 3z — 66
( )( )

. (102 — 2)(92 + 3) — 9022 + 20z — 6
( )( )

(112 + 1)(10z — 6) — 1102% + 4z — 6
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image2.png
L (z+2)(x+4) =2+ 6z +8

(2 +5)(x+7) = 2 + 120 + 35

. (2 +6)(z +8) = 2 + 14a + 48

L (z+1)(x+9) =2+ 10z +9

. (z+4)(z + 11) = 2® + 152 + 44

. (z+10)(z + 13) = 2® + 232 + 130
(2 +12)(x + 14) = 2® + 262 + 168
. (2 +2)(z + 13) = 2® + 152 + 26

. (2 + 7)(z +10) = 2® + 172 + 70

. (z+ 11)(z + 15) = a® + 26z + 165




image3.png
10.

L (z+3)(x+7) =2 + 10z + 21

. (2 +5)(z +8) = 2% + 13z + 40

. (2 +6)(z + 11) = 2® + 17z + 66
L (z+2)(x+9) =2 + 11z + 18

. (2 +4)(z +10) = 2® + 14z + 40
. (z+1)(x+5) =a®+6x+5

(2 +T)(x +12) = 2® + 192 + 84
. (2 +8)(x + 14) = ® + 222 + 112
. (2 +9)(z +15) = 2® + 24z + 135

(z +3)(z +6) = 2% + 9z + 18
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(2 —4)(z —15) = 2® — 19z + 60
. (@~ 1)@ —6) =
. (@ —5)(x — 10) — a? — 152 + 50

—Tx+6

L (@~ T)(@ —9) — 2% — 162 + 63

- (@~ 8)(x — 14) — 2 — 220 + 112
. (@ —3)(@ — 11) —a? — 142 + 33

(@ —6)(x —13) —a? — 192 + 78

. (@~ 9)( — 12) — 2 — 21z + 108
. (@ — 10)(x — 15) — a* — 25z + 150
(@ —2)(@—7) =%~ 9a + 14
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10.

L (z—2)(x
(@ —3)(@ —7) — 2% — 10z + 21

5)=a? Tz +10

(@ —4) (@ —8) —a?— 122+ 32

. (@ —5)(@ — 6) — 2% — 11z + 30

(@ —1)(@—9) =%~ 10z +9

. (@ — 6)( — 10) — a? — 162 + 60
(@ =T —12) —a? — 192 + 84
. (¢ — 8)(x — 13) — 2 — 21z + 104
- (@ —2)(@ —11) —a? — 132 + 22

(¢ —3)(z — 14) — 2% — 172 + 42




image6.png
(- 1)(z+4) =2’ + 3z -4

. (2 —2)(z +6) = 2 + 4w — 12

. (z—3)(x+8) =2+ 50— 24

. (2 — 4)(c + 10) = 2 + 62 — 40
. (z—5)(e+2) =2 — 3z — 10

. (z—6)(c+3) =2 — 3z — 18

(- T)(@+5) =2 — 2z 35

(@ —8)(@+7) —a—a 56

. (@~ 9) (@ +9) —a® — 8L

. (z —10)(z + 11) = 22+ — 110




